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So, remamsering that ML and DZ are used T rzic real numsers, then we weLll Fave 2 oas !
rejisters 1a the following way to represent each of the alcve numlers. :

d £ LD HL,£4000
Lo DE,£0100 °

1 = LD HL,£4000
W , LD  DE,£0000

-12.85 = LD HL, £E400
! LD DE, £0300

0.1

Lo HUL, £6646
Lo OE, £FCé6

B

The last example shaws why calaslations involving binary fractions can be inaccurate: 0.l caanct 2z
acurately represented as a binary fraction, to a finite number of ceamal places.

| -
é N.B. Reals are stored in memory in the order ED LH,

2.1.4 Becords and Arravs,

Reccrds usa the same ancunt of storage as the ’tetal of their components.,

|
t
} ! Arrays: if n=number of elements in ™Me array and £
‘ ' s=s12e of each element then
' the number of bytes ccoupied by the array is nss,
| €.g. an ARRAY[1..10] OF INTEGER requires 1092 = 20 bytes b
an ARRATI[2.12,1.10) OF CHAZR has 11410=110 elements and sc raquires »10 byTes. 4
e cERER e s 7 kel Bl R S el e 8
; A 3-;-5 Sef:. i
%
: £
/’ Sets are stered as bit strings and so if the base type Nas n eiements then the aumter of dv-es ;
) ,

usad is: (n=1) IV 8 « {. Examples:

e

a SZT CFCEAR requires (256~11CIVEa + 1 = 22 Sytes.
a S5ZT CF (dlue, green, yellow) requires (3-1) DIV S+ 1 = ¢ jvia,

¢ A 2.1.6 Pointers,

_""mw Arywragy

: - . Pointers ccoupy 2 bytes whizh contain the address (in Intel format i.e, iow Dyta First: of *ie _
variatle to which they point, 25
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